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® (-18) = (+6)

@ (+6) x (=3)

® (+20) = (+5)

@ (-30) = (-6)









5
4

4
® —3,4‘

3
10

@ 0.3
®1,-1

—~ %™
o~ oI

@ @



@ 2 ® 3 @ 4 ® 5

D1



olJ
e
olJ
o8

olig
Nfo

op

60

@ (-2) x (-30)

60

@ (4+12) x (+5)
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@ (-22) x (+4)

® (+4) x (-13) = =52

® (-8)x (-9) = -T2
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+E)x(-0.20%(r5) —

=(-0.2D)x(+2)x(+3) =
-comx|- 3=
=(-0.21) 1 =
=—0.21 =
__21 .
=7100
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@ (-20) = (+10) © (~120) + (~15) = (+4)
© (+40) + (=20) ® (+20) + (-5) + (-2)
@ (-4) = (+1) @ (-8)+(-2)=(-2)

© Q@ ® ©,e ® 0,6

ONGNC) ® 0,.6,e
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©® 22-1x3? @ (-12) +(-2)2 - (-2)
® (-5)2x 2%+ (-10) @ 52— (-2)3+32

® 75+ (-5)? x 22
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15. y=-[{(-)"°+ 7%} + (-5)] °]12L, x= x| < 4% A5, x F
Ayl eF7t obd 212 E 9 A RIZF (x> 0)
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